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Since Middle School you

deal with

decimal expansions . Let us
talk justabout

real numbers in [o ,D , so , the
decimal makers
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Amazingly,Ihisisauiufines
You have been dealing with infinite
series since middle

school .
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If d: IN → ID (a sequence ofdigits)
is periodic ( F pews .

t . dntp = dn threw)
then n⇒ glory is a rational
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10 11 12 13 19 15

These are 'hexadecimal digits;
My initials BC

is an integer in the
hexadecimal

number system .
"The logic is the same as in the

decimal system : . HOW is 16 , HF
)
#
is A -1Gt 15 is 31
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So ⑨C)he, is that6+12--176+12=188 .
The logic with

decimal numbers is
similar (O.BG is Fatt Hae
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47 is GFW ,
64 is#hex so (2¥)!

Hexadecimal integers are really used in
coding colors in programing , like letme .



In RGB coloring scheme the number
# FF0000 represents red # 00 FFFF

is cyan

# 0OFF00 represents green # FFO
OFF is magenta

# 000OFF represents blue )# FFFFOO is yellow
e-
-or each color we use an integer between00

andEffie, 255

Interesting colors are raising halfway
values between 00& FF

that is (8)he× : Teal is # 008080 (dark cyan)
Olive is # 808000 (

dark yellow)

Purple is # 800080
(dark magenta)

Maroon is #800000
(dark red)

Navy is #
000080 (dark blue)

Orange is #
FF 8000 (half

-way
between

red and yellow)
More about colors you can find by

googleing curgus coror
cube


